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(a) What is cost accounting? State briefly the advantagh
1. (a

cost accounting.
qarz¢ |

(b) Distinguish between :
(i) Bin card and Stores ledger

Wé@ma?am‘ra?r%

(ii) Waste and Scrap.
3R BT
@) fam &€ iR BR W

(ii) IR IR TS |
Or (amar)f

(a) Differentiate between Direct costs and Indirect costs wj

suitable examples. |
YE AR T SIS AR § Qg 3R dhifog )

(b) Following data pertain to material X :

Cost of placing an order Rs. 100

Annual carrying cost Rs. 15

Normal usage 50 units per week -
Minimum usage 25 units per week
Maximum usage 75 units per week
Reorder period : 4-6 weeks

No. of weeks in the year 52

Compute from the above (i) Re-orde;' Quantity, (ii) R
‘orderLevel, i) Minimum Level, (iv) Maximum Level, 1

Average Stock Level.
3159 : :

; . i .‘

Scanned with CamScanner



freT SidS A X A wafy ¥
ARY o FH AR 100 Bq%
Il & ARTT 15 593
R 50 T ui e
et e 25 T af e
SR T 75 T o W
| g SRy Ity 4 ¥ 6 gTE
- 9N ¥ < ) gEn 52
@) I SRS "y
(i) I SMRY ®R
* (iii) =TT =R
| (iv) SRy &) |
| (V)a_ﬂ'ﬂ?fﬁv—'ﬂﬁ?l l1()

|

2. (a) A manufacturer’s product passes through two distinct
Processes A and B, and then to finished stock. It is known
from 'pas-t experience that wastage occurs in the process
as under :

In Process A 5% of the units entering the process and in
Process B, 10% of the units entering the process.

- The scrap value of wastage in process A is Rs. 8 per 100
Units and in process B Rs. 10 per 100 units. The process
figures are :

: P.TO.

-
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Process A

Rs.
Material consumed 3,000
Wages 3,500
Manufacturing expenses 1,000

5,000 units were brought into Process A;‘
The outputs were : Process A : 4700 u
4150 units. 3
Prepare process cost accounts. showm 4 -

i v S————

and all other relevant accounts.

TF IAEH & IA% & =
W%mwﬁq@m%uw
- ¢ T ufeael 7 aftr Fet gaR @
| mAﬁmmﬁw
ufar B ¥ ot awd et & 109
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j*- R g
uftkar A§ 2500 T93 @I HE
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maﬁmaﬂimwmmaﬁﬁ@ﬁ

. & 913;‘" AFd @A 15T | 10
) Bneﬂy explain advantages of integrated accounts.
@ @l & T B AT T FAEE 5
Or (31)
(@) What are the advantages and limitations of activity based
costing? '
, R sreRa e e & art ok el @
| m | Sk

|
|

. (b) Amanufacturer requires 500 units of a component monthly.

| This is currently being purchased froma supplier at Rs. 50

per unit. The cost of placing an order is Rs. 30 and the

annual carrying cost is Rs. 4 per piece. What is the

economic order quantity (EOQ) for placing an order? Also

find the number of orders to be pia«";ed in a year for the'
component and the time lag between two orders.

T SaEE 3 UF §EeH F 500 THE Y AE B
ATEAT | A ¥ 95 T §eEE 4 50 T A
o & @hdr o T B oM 37 Y A 30 T ®
R i T T 4 694 W g B ARA A B
R s Sasr /AT (BOQ) 4T &7 & @ g
¥ Rey omdyr 23 wRw? & SR B FHA-SIRI

W FaET 5

(c) The following information relates to a transport
15 I. Y-

P.T.O.
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- Days operated in a month 30
Capacity of each bus 40 passengers
Distance of route 100 kms (one way
Round trip made by each bus 2

Average capacity used - 80%

Calculate :
(i) Total kilometres run
(ii) Total passenger kilometres.

ﬁ‘qﬂ:ﬂqﬁ@mwﬁ%wﬁuﬂ;

g4l & G AT 4
are ¥ gafea & 30
ydd 99 H A 40 TEY
1 3 U 100 et
T T & TR & §@n 2
CIECRELCIERER 80%
TOET HINT |
@) Wl o
(i) & ABN Wﬁ\_
| _ ’
3. (a) Differentiate between FIFO and LIFO method?
valuation. ;
hrar g W LIFO q@r FIFO
FITT |

3159
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(b) During the month of March, 2000 units of material were

issued at a cost of Rs. 18,000. Labour and overheads
totalled Rs. 9,000 and Rs. 6,600 respectively. On 31st
March 1500 units were completed and transferred to the

- next process. On the remaining 500 units, which were

incomplete, degree of completion was as follows :
- Material 100%
Labour 60%
Overhead 30%
On March 1, there was no work—in—progresé in the Process
A.You are required to preparc : (i) Statement of Equivalent
Production, (ii) Statement of cost, (iii) Evaluation statement

and (iv) Process Account.

e HE B A q @ 2000 3HE 18,000 9 @
me'#ﬂélwwmﬂmmz
9,000 BT 3R 6,600 T &T | 31 o P 1500 FHEA!
mwwﬁﬁma‘zﬁﬁmﬁﬁﬁm?ﬁﬂél
ﬂwaﬁscomﬁ,aﬂﬁs@ﬁ,ﬁwmrww

T

At 100%

qq 60%_

a-qﬁarq‘ 30%
Qﬁqﬁaﬁmﬁﬁmﬁmqﬁm
mmm%=7 “ we - TG,
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| b e month of March, 2000 units of material were
() -D::c d at a cost of Rs. 18,000. Labour and overheads
| :,talled Rs. 9,000 and Rs. 6,600 respectively. On 31st
M arch 1 500 units were completgd and transferred to the

. ext process. On the remaining 500 units, which were

incomplete; degree of completion was as follows :

- Material 100%
Labour 60%
Overhead 30%

OnMarch 1, there was no work-in-progresé in the Process
A.Youare required to prepare : (i) Statement of Equivalent
Production, (i1) Statement of cost, (iii) Evaluation statement

R and (iv) Process Account.

o WIE & QA Gt @Y 2000 3HTE 18,000 HIG FY
AR 91 S0 B TE | 59 AR SuRE &7 q maw:
9,000 TIF 3 6,600 TIX 4T | 31 A Hr 1500 THEAT
St o STl Wi & fod wERa @ @ T
Y It 500 FHIEAT, S 6 ot o, & qofar @ @R fre

qr .
| NiLpil 100%
{ qq 60%
| IRTg 30%

. A @ afer AR B gben ¥ wR T an
??1;9 Y FaR FT &

PE i PTO.
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i (iif) TR fraeor

1 (iv) TR @ |

Or (3ra)

The following information from the financial acco_

available for the year ending 31-3-2012 :

Direct material consumption
Direct wages
Factory overheads
Administration overheads ‘
Selling and distribution overheads
Bad debts
Preliminary expenses (written off)
Legal charges
Dividends received
Interest on deposit received
Sales 1,20,000 units
Closing stock—
Finished stock- 40,000 units
Work-in-progress
i The cost accounts reveal :

Direct material consumption Rs. 2,80,000

~ Factory overheads recovered at 20% on prime co
A £ 8 3
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Adm istration overhead at Rg_ 3 PEr unit of prodyct;

., e ion.
selling and distribution overheads at Rs. 4 per unit 3012
prepare -

A Costing profit and loss account

®) Financial profit and loss account

(c) Statement reconciling the profit or 1osg disclosed by the

costing profit and loss account and f‘mancial profit and loss
account.

13.3-2012a§rm3&%f@ﬁaﬁamﬁﬁﬁma;ﬂmﬁ
I B

%o
Bl ey S 250,000
Ry ‘ s
| FREAT SURE | A
| : | _ 250,000
| ﬁmﬂ_ ¥ 7 ety 480,000
| W ¥ | 5 20,000
e b 3 | 5,000
aa'i?'aim adaod 50,000
! o,m
BRI IR | R T | T 1100000
| 120000 THE W BT E
A w— | 120,000
a'qr( *{aﬁ: 40,000 TRl | 80,000
Tia § s ‘ PTO.
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AT @ral & qar =

yqe AT IUHIT .
FRET ST & gt A4 % 20% TG
mﬁmmﬁmusmﬂuﬁrwﬁﬂﬁﬁ
R @ fawor suftera 4 794 9T famle
R BT
() @R drH-E @rr
(u)arrﬁaimaﬁm
(i) TRT AT-Efy @ aE A @
aquﬁ?fammzrﬁmma% :

o

BESEE L

4. (a) What is labour turnover? Explain he
turnover and the methods of measu: nf

o A T BT 82 HH anaef
A & qdb B GHARY | |
(b) A transport company has been givena:
run a bus. The bus costs Rs. 50,000

@ 6% p.‘a. while annual taxes amount
rent is Rs. 100 p.m. Yearly repairs wi

the bus is likely to last for 5 years.
The driver’s salary will be Rs. 3,00€
conductor Rs. 1,800 p.a. Cost of stati
p.a., manager ssalarynsRs 400p m.
accounts. .

~ Diesel and oil will be Rs. 25 peri
make 3 trips carrying on an a ‘

33

- on each trip. The bus runs on an

4 month.
13159 gt 10

Scanned with CamScanner



r ; -
Assuming 25% profit on takings, calculate the bus fare to
pe charged from each passenger.
o TRaIET FAT & 79 20 fFdf w1 Anf @ gerd ¥
9 P AEIT 50,000 To & IR @ 6% T X fifta
2, safh aftis w A TR0 2,000 T ¥ A &
fRtET 100 T9 Wiy WrE B | aiftfe wEr 2,000 w9
gfey e N T I HT 5 I T 9 AT A B
F AT HT A AMH 3,000 TYA BT T 6 TREATTE
| T 18,000 BYY 1M BN | RYAH &Y AR 600 5Y
mﬁmmm&mmow&mﬁm S 9 ¥ @@
A @
| sﬁaaaﬁamoﬁaﬁwzsmwmlwmﬁ
| R oiwaT 40 6N O SR de TN e e

I & T SEAT 25 R @ _

HIET & 25% B T A BT 0% A F Rre o

e f6ud B T v Eig
! Or(m) |

(2) What is idle time? What are. the causes of idle time
and how should idle time wages be treated in cost
accounts?
Eﬁﬁmmé\m%?@mm%wmaﬁ%? |
SR W dEl & @ aw Tl w R |
TIER AT ST &2 . 6 ’

) X Ltd has undertaken the construction of a road. The value 1

Ofthe contract isRs. 15,00,000 subject to retention of 20% t
11 P.T.O. :

315

-
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mtilyaraﬁa' com |
and final approval of the engineer. Th
detaﬂsasshownmthcbookson;

Labour on site
Materials direct to site
Materials from stores
Hire and use of plant
Direct expenses ;
General overhead allocated to th contr
. Materials on hand on 30th Sep .,_5;‘
Wages accrued on 30th September, 2
Direct expenses accrued on 30
September, 2014 ;"
Works not yet certified at cost
Amount certified by the enginee
Cash received from contracto

Prepare : (i) Contract Acco .. :

'l

and (ux) show how it will appear i

t,,

xﬁo%@m%ﬁn‘fﬂraﬂ T
Teg 15,00,000 T 3, mﬂéa‘a’t
THIT [T 8N % T 9 Iy
 FHIeT % | 30-9-2014 B

T :
WEE R o
Waa‘rmmﬁm
3159
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ﬁTﬁ : / 81,200

Wﬂmwm | 12,100
gerd 23,000
Wﬁmmﬁgwwﬁm 37,100
g0 faa= 0014 W BE Al e300
30 R 2014 Y ST | 7500
30 far= 9014 T IYIA TIT = 1600
mﬂawmaﬁww@mq—a 16,500
WWW@HW 11,00,000
a’:ﬁm@fwﬂﬁ 8,80,000
3 TG
(i) WWI(II)WWWM@%@@%
a%aﬁq?ﬁﬁ?amzsﬁmaﬁm
ion of

5. (a) Explain any two percentage methods of absorpti

factory overheads.
@ SR P ST 1 g & FieRTd faferd
1 g | 5
(b) The information given below has been taken from the cost
records of 2 factory in respect of aJob:
Direct material Rs. 6,000
Wage details :
DeparnnentA 60 hours @ Rs- 3() per hour
Department B 40 hours @ Rs- 20 per hour
Department C 20 hours @ Rs. 50 per hour
P.TO.
3159 13 P
_—A
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The variable overheads are as follows "
Department A Rs. 15,000 for 5,000 hoy
Department B Rs. 30,000 for 1,500 ho
Department C  Rs. 12,000 for 500 hours

Fixed expenses are estimated at Rs. 50,000 for 1 ,.
working hours. Calculate the cost of the Job ang the :
for the Job to give a profit of 20% on the selling

U F ¥ Tt e gE o wwan @
R & o o ¥ . |
S HT‘TEﬁ _ LY
Fgd 1
T A - 60 8¢ @ Rs. 30 Uiy g
ACEing:! 40 5 @ Rs. 20 Ify g1
fawm ¢ 2092 @ Rs. 50 9f war
uRer T B R ¥ i
fasmT A 5,000 52 & R To 15,01
T B 1,500 5 % frd o 30,0

T 500 B2 & R o 12,0 0

10,000 & §3f &% R =™ 50,000 T
o % A o &1 g P i
Or (srean)
(a) How are research and development expenses

cost accounts?
3159 3 14
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ard @l # M TO R o 5 ym sqama
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(b) From the following particulars compute machine hour
rate : ‘

(i) The original cost of machine used was Rs. 50,000. Its
estimated life is 5 years, the estimated scrap value at
the end of its life is Rs. 5,000. The estimated working
time per year is 2,200 hours (50 weeks of 44 hours) of
which machine maintenance is expected to take up
200 hours. No other loss of working time is expected.

Setting up time estimated at 100 hours is regarded as

productive time.
(i) Electricity used by the machine during production is
- 16 units per hour at a‘cost of Rs. 2.50 per unit. No
current is taken during maintenance or setting up.

(i) The machine requires a chemical solution which is
replaced at the end of each month at a cost of Rs. 200 .
each time. |

(iv) The estimated cost of maintenance per year is Rs.

- 12,000.
(v) Two attendants control the operation of the machine

. together with five other identical machines. Their

combined weekly wages and insurance amount to Rs.
1,800. . ‘
(vi) Department and general works overheads allocated

to this machine for the year amounteq to Rs. 20,000.

159 15 Sk P.T.O.
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m%wﬁmwwmmm
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(i) 7 ERT feT, ST & 9, 16 IR o g
2.50 B9 Uiy g & A A, Sugw & |
LY & 9T S9dT W@ B 999 5o
YT E B ‘

- (i) F BT TR T fITET B s t
qﬁr%aﬁmﬁwﬁmm%lmﬁa
ANTE 200 B9 ¥

(iv) TE-T@IT B AT 0T SRas 12,000 7 &

(v) W T e 2 eReEeEs Rt ww

-5 T N O ot g ¥ Se wgew W
ol T S 1,800 B9F qAT B

(vi) R9RfT T amrr a5t sufte o 2@ T

Jmafed 762, 20,000 B ¥ e
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